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Question No. 1
ffaf@a st & aEueliqEs 9§ R S Re v wea # 3 &) () vw BFaer sfadf@ar & of
iFa-J, K, L, M 3R N &mr ad €1 (i) 3597 & o @t 7 e 8, 300 @ v wraAls geansit F e §
IR 3 @ v wer IR FEpfA F FAw T (i) J AR M FfERa Afrard § AR Bl o R F qrrer adt
gl (v) N, v Rafga s F afd &1 (v) K, L 7 1§ & 3R ag &7 o aoalde geanit & 3k 7 & war 3k
TP & FA g1 (vi) AR geanit R Fef w B o Afger F AOFER A ¥ weRe geansit &
FRrerar fR T 82
AN B)J
C)M D)L

Read the following information carefully and answer the question given below. (i) Five persons—J, K, L, M
and N participate in a quiz contest. (ii) One of them is a master of sports, one of them is a master of current
events and one of them is a master of art and culture. (iii) J and M are unmarried ladies and do not hold
command in any subject. (iv) N is the husband in a married couple. (v) K is the brother of L and is neither a
master of current events nor art and culture. (vi) None of the ladies has command over current events and
sports. Who is the master of current events?

AN B)J
C)M D)L
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 1) (objection.aspx?qwr=3610117616&qwer=1)

Question No. 2
AR ¥, Tohfad Gall F AT RFah garT & el &7
A)ARTHT 3ETeT B)geATa 3mTer
C)RfRr 3maer D)Irsgufa

In India, political parties are given recognition by-

A)Speaker of Lok Sabha B)Election Commission

C)Law Commission D)President

Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 2) (objection.aspx?qwr=3610117616&qwer=2)



Question No. 3

TF Aewasihe #1 5.7840 I @ler A 3R AR 37 7% T W I AT 1AM 3HH RFT Ao AT B
A)%.8488.80 B)%.8883.80
C)%.8380.80 D)%.8388.80

A motorcycle was bought at Rs.7840 and sold at 7% profit. What will be its selling price?

A)Rs.8488.80 B)Rs.8883.80
C)Rs.8380.80 D)Rs.8388.80
Answer Key : D Your Response : D (Correct) Raise Objection(Question No. 3) (objection.aspx?qwr=3610117616&qwer=3)

Question No. 4
FISIET 3ARYT, AT & ¥ v Teg F Rua &2
A)3nf3em B)ahsiTceh
C)fser D)3ra@H

In which of the following states is the Kaziranga Sanctuary situated?

A)Odisha B)Karnataka
C)Bihar D)Assam
Answer Key : D Your Response : D (Correct) Raise Objection(Question No. 4) (objection.aspx?qwr=3610117616&qwer=4)

Question No. 5

ST & TE SAHT T TF AT AT F (7 HIST ST ¢ AT F1 AT B, Head B

C
E
A

ElEE

c. |C D. |55 ¥ FI5 a0




When the given figure is folded to form a cube then which face is
opposite to the face with B?

C
E
A|F
D
B
A F B. |E
C. |C D. |Noneof these
Answer Key : A Your Response : C (Wrong) Raise Objection(Question No. 5) (objection.aspx?qwr=3610117616&qwer=5)

Question No. 6

TH NN A $.530 7 FF THAR Gier 3R 37 $.583 7 a7 Ram| o ufoRra &1 gar senw|
A)53% B)10%
C)19% D)24%

A trader bought an article for Rs.530 and sold it for Rs.583. Find out the profit percent.

A)53% B)10%
C)19% D)24%
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 6) (objection.aspx?qwr=3610117616&qwer=6)

Question No. 7
T TEAT & 58% 3 34 T&AT & 39% & HET FT T 247 ¥l 39 E&IT H 77% AT gem?
A)758 B)806
C)1001 D)931

The difference between 58% of a number and 39% of the same number is 247. What is 77% of that number?

A)758 B)806
C)1001 D)931
Answer Key : C Your Response : C (Correct) Raise Objection(Question No. 7) (objection.aspx?qwr=3610117616&qwer=7)

Question No. 8



AT el Fr 37 7 : 8 : 9 F U A ¥ I T 93 A 3 18 I §, A 3h 3w Iy w2 @l
A)14 a§ B)16 a¥
C)18 a¥ D)13 a¥

The ages of three children are in the ratio of 7 : 8 : 9. If the age of the eldest one is 18 years, what will be their
average age?

A)14 years B)16 years
C)18 years D)13 years
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 8) (objection.aspx?qwr=3610117616&qwer=8)

Question No. 9

IRy ey T & & RAEE & 25%, 10 &, & 9% d@&ar A1 HY
A)75 B)120
C)60 D)30

If 25% of two-thirds of a number is 10, find the number.

A)75 B)120
C)60 D)30
Answer Key : C Your Response : C (Correct) Raise Objection(Question No. 9) (objection.aspx?qwr=3610117616&qwer=9)

Question No. 10

Rifrcar s #r g8 arar § S 98 F Irewe & w@eEfta g

A)sgT el B) Yottt
C)aA%hleloit DEGIMEIE)

is the branch of medical science that deals with the study of kidneys.

A)Neurology B)Pathology
C)Nephrology D)Dermatology
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 10) (objection.aspx?qwr=3610117616&qwer=10)

Question No. 11
POFAMERGIR QF AT S, RAATEI T, SH AT Q RA MY Q TH F wefta ¢ 2
A)Fa B)aehr
C)mRardr D)sg

P is the brother of Q. R is the father of Q. S is the mother of R. T is the father of S. Q is the daughter of R.
Howis Qrelatedto T ?

A)Daughter B)Granddaughter

C)Great granddaughter D)Daughter-in-law



Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 11) (objection.aspx?qwr=3610117616&qwer=11)

Question No. 12
AR 7 TET A AT TR FeT &
A)TRAT FifeadT TeaTeT B)zaid & HIS ke gl
C)9RdT Rea d= D)herT TITETHI TaraeT

prepares the National Income Estimates in India.

A)lndian Statistical Institute B)None of the options
C)Reserve Bank of India D)Central Statistical Organisation
Answer Key : D  Your Response : A (Wrong) Raise Objection(Question No. 12) (objection.aspx?qwr=3610117616&qwer=12)

Question No. 13

TF T T FI9 TF T AT F& fer v A r fiw et &

LEECEETIE L
(1) 2) 3) ) )
(6) O] ® (&)
A 157289 3,46 B. [157 2364389

C. h,57 2,46 3,89 D. B & FE =50




Group the given figures into three classes using each figure only

A0

(1) (2) 3) (3)

EQAA

O] @)

A 572,89 3,46 B. 157 23,6 4859

C. 1,5, 7; 2,4,6; 3,89 D. |Noneofthese

Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 13) (objection.aspx?qwr=3610117616&qwer=13)

Question No. 14
gEA:B=4:33RB:C=5:2% A:B:C & qdr aamv|
A1:2:3 B)20 : 15 : 6
C)20:2:5 D)3:1:2

IfA:B=4:3andB:C=5:2,findA:B:C.

A)1:2:3 B)20:15:6
C)20:2:5 D)3:1:2
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 14) (objection.aspx?qwr=3610117616&qwer=14)

Question No. 15
deT dEmit 1 T 136 31 AR vgelr 3R qEd & @ T 3Eaa 2: 3 aur qEdr 3R AEd & @ F wegu
5: 3 ¥, a qEdr "EAr AT RS
A)60 B)48
C)40 D)72

The sum of three numbers is 136. If the ratio between first and the second is 2 : 3 and that between the
second and third is 5 : 3, then find the second number.

A)60 B)48

C)40 D)72



Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 15) (objection.aspx?qwr=3610117616&qwer=15)

Question No. 16
HRT & dRaeeT #§ b fr cyaen fRa @y ¥ A i % 97
A) TS B)zad & HI1S Ahed gl
C)gases fahmarsa D)3itegforr

From which Constitution did the Constitution of India borrow the scheme of Federation?

A)Canada B)None of the options
C)United Kingdom D)Australia
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 16) (objection.aspx?qwr=3610117616&qwer=16)

Question No. 17
(0.3 x 0.3 + 0.01)(0.2 x 0.2 + 0.01)" Fr A 7T FI
A)6 B)2
C)3/2 D)5/2

Find the value of (0.3 x 0.3 + 0.01)(0.2 x 0.2 + 0.01)".

A)6 B)2
C)3/2 D)5/2
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 17) (objection.aspx?qwr=3610117616&qwer=17)

Question No. 18

3R & HEAmst # Ader 30 AR 3 el F AT 468 B, A QAT HEATHT & IORTGA F YT AT
A)104 B)216
C)184 D)81

If the sum of two numbers is 30 and the sum of their squares is 468, find the product of the two numbers.

A)104 B)216
C)184 D)81
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 18) (objection.aspx?qwr=3610117616&qwer=18)

Question No. 19
oA geEt # ¥ e TufAs et F § F e Ser 87
A) AT TgT B)zad & P15 Ahed gl
C)®UaRd (Femdfthe) e D)31arér agTel

Which of the following rocks are known as primary rocks?
A)lgneous rocks B)None of the options
C)Metamorphic rocks D)Sedimentary rocks



Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 19) (objection.aspx?qwr=3610117616&qwer=19)

Question No. 20
TR AW & oY 43t $r fadd 91§ 5 : 4 & IequraT & ¥ 3R IRT G F {56 SABell H eI Al
$faw)
A4 : 5 B)3 : 4
C)4 : 3 D)5 : 4

Two cones of equal diameters have their slant heights in the ratio of 5 : 4. Find the ratio of their lateral surface

areas.

A)4:5 B)3: 4

C¥:3 D)5:4

Answer Key :D  Your Response : A (Wrong) Raise Objection(Question No. 20) (objection.aspx?qwr=3610117616&qwer=20)
Question No. 21

HITST Tl HT A e §7

A)dfae=g B)&Filceh

C)3raH D)dstTer

Bhangara is a folk dance of-

A)Tamil Nadu B)Karnataka
C)Assam D)Punjab
Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 21) (objection.aspx?qwr=3610117616&qwer=21)

Question No. 22

it MR T PfarRE % ¥ F A ¥ o5 g B

A)fshahc B)frd
C)&asar D)Pedrer

With which of the following games is Indian Premier League associated?

A)Cricket B)Tennis
C)Kabaddi D)Football
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 22) (objection.aspx?qwr=3610117616&qwer=22)

Question No. 23
ey # geena AR RN & TRGPRT A Fa@ T8 ST B
A)R B)qisT
C)ziret D)ueerd



The Brihadeeswarar Temple at Thanjavur marks the greatest achievement of the architects of the

dynasty.

A)Chera B)Pandiya

C)Chola D)Pallava

Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 23) (objection.aspx?qwr=3610117616&qwer=23)

Question No. 24
gfgd a+b =403 a2+ b2=116 §, ar a3 + b® & A AT R
A)-25040 B)248
C)-25480 D)-1890

If a + b =40 and a2 + b2 = 116, find the value of a® + b3.

A)-25040 B)248
C)-25480 D)-1890
Answer Key: A Your Response : B (Wrong) Raise Objection(Question No. 24) (objection.aspx?qwr=3610117616&qwer=24)

Question No. 25

0.000009123 #r d=nfarer AT 7 =T H
A)9123 x 10® B)91.23 x 10+
C)912.3 x 107 D)9.123 x 106

Express 0.000009123 in scientific notation.

A)9123 x 10°° B)91.23 x 10
C)912.3 x 1077 D)9.123 x 10°°
Answer Key:D  Your Response : A (Wrong) Raise Objection(Question No. 25) (objection.aspx?qwr=3610117616&qwer=25)

Question No. 26
I 'MACHINE' &I 19-7-9-14-15-20-11 & &7 ¥ Feag fFar Siar @, o 'DANGER' #1 Feag & fhar
STeeT?
A)10-7-20-13-11-24 B)11-7-20-16-11-24
C)13-7-20-9-11-25 D)13-7-20-10-11-25

If ' MACHINE' is coded as 19-7-9-14-15-20-11, how will ' DANGER' be coded?

A)10-7-20-13-11-24 B)11-7-20-16-11-24
C)13-7-20-9-11-25 D)13-7-20-10-11-25
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 26) (objection.aspx?qwr=3610117616&qwer=26)

Question No. 27
e T B HRAT Fealer FT AR F AN F ST ST 82
A) ool B)H#<S
C)ar@ai3 D)ahlefehrar



Which city is known as 'Mecca of Indian Football?'

A)Delhi B)Mumbai
C)Lucknow D)Kolkata
Answer Key: D  Your Response : D (Correct) Raise Objection(Question No. 27) (objection.aspx?qwr=3610117616&qwer=27)

Question No. 28
T.6000 Fr eI W 8% AT sarer X F et a¥ & 3d & WURYT AT IR THIfE s & ST frcanr
3R e gem?
A)%.118.27 B)%.138.72
C)%.218.27 D)%.128.27

What will be the difference between the Simple Interest and Compound Interest on Rs.6000 at the rate of 8%
per annum at the end of three years?

A)Rs.118.27 B)Rs.138.72
C)Rs.218.27 D)Rs.128.27
Answer Key: A Your Response : B (Wrong) Raise Objection(Question No. 28) (objection.aspx?qwr=3610117616&qwer=28)

Question No. 29

qF IH el St 3T oA § BT B

A)5,58 B)8,91

C)6,69 D)7,78

Find the ODD one out.

A)5, 58 B)8, 91

C)6, 69 D)7, 78

Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 29) (objection.aspx?qwr=3610117616&qwer=29)

Question No. 30



el # @ 37 3T & g7 A A" RBU v Yo w wEd =0
T/ T R 2

v < b
e I\ 3

Choose from the alternatives the figure that best completes the
pattern given below.

v <] 3
e INL >

Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 30) (objection.aspx?qwr=3610117616&gqwer=30)

Question No. 31

Prfafld # & Sherar SRl s # Geater 1 FaRr qUAT i & &2



A)BC T githr B) sl &9
C)HaN grér D)3{E &4

Which of the following cups/trophies is the oldest football competition in India?

A)B.C. Roy trophy B)Federation cup
C)Santhosh Trophy D)Durand cup
Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 31) (objection.aspx?qwr=3610117616&qwer=31)

Question No. 32
R BT & 3T B TN F 63 F T 83 gor F AT AT UT| 3FF FROT FET & AT 3iF 3T ¥ 7§
IT| FET & SEF Hr &A1 AT P
A)73 B)10
C)40 D)20

The mark of a student was wrongly entered as 83 instead of 63. Due to that the average marks for the class
got increased by half. Find the number of students in the class.

A)73 B)10
C)40 D)20
Answer Key:C  Your Response : B (Wrong) Raise Objection(Question No. 32) (objection.aspx?qwr=3610117616&qwer=32)

Question No. 33
4 qQemsit #F I & 3wa 3w 80 §1 3R uiadl wdiew 7 3& 120 IF A, A 3uF i I’F F qar
Coid
A)88 B)80
C)76 D)68

The average of marks of Ravi in 4 examinations is 80. If he got 120 marks in the fifth exam, then find his new
average marks.

A)88 B)80
C)76 D)68
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 33) (objection.aspx?qwr=3610117616&qwer=33)

Question No. 34
T 120 #r ot ¢oT et U5 Y 6 AFT H IR F A g1 e Fr afy F=w F?
A)72 fRet/Eer B)60 fraf/eer
C)75 ferefi/erer D)90 faa/eer

A 120 m long train crosses a tree in 6 seconds. What is the speed of the train?
A)72 km/hr B)60 km/hr



C)75 km/hr

Answer Key: A Your Response : A (Correct)

D)90 km/hr
Raise Objection(Question No. 34) (objection.aspx?qwr=3610117616&qwer=34)

Question No. 35

Feedl & @ 37 3T & g5 S A" RBE ow Yo w g =0

T F W R 2

7

Choose from the alternatives the figure that best completes the

pattern given below.

I




Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 35) (objection.aspx?qwr=3610117616&qwer=35)

Question No. 36

sfsar AT Fgl W &7
A)HFSS B)SaTel®
C)a@eTaRTaT D)= feeelr

India Gate is located in-

A)Mumbai B)Bengaluru
C)Kolkata D)New Delhi
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 36) (objection.aspx?qwr=3610117616&qwer=36)

Question No. 37

faws qamd|

A)50 B)42

C)56 D)35

Find the ODD one out.

A)50 B)42

C)56 D)35

Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 37) (objection.aspx?qwr=3610117616&qwer=37)

Question No. 38
FUIATAT T HlTaT Wg oM U T Feer r Fadr 3resr g W [ HWM? ZA : YB = XC : ?
A)NM B)WD
C)BC D)YZ

Which group of alphabets will best complete the relationship given below? ZA : YB :: XC : ?

A)NM B)WD
C)BC D)YZ
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 38) (objection.aspx?qwr=3610117616&qwer=38)

Question No. 39
FlTar g A U 1T FFer A Fa@ R TS § QU FREM? HUGT : S@AT =2 el @ ?
ATl B)eafer
C)sii D)fawrra

Which word will best complete the relationship given below? Blind : Sight :: Paralysis : ?
A)Movement B)Sound
C)Sleep D)Growth



Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 39) (objection.aspx?qwr=3610117616&qwer=39)

Question No. 40
f=faf@a & & A g & wEuEgEs 9§ 3R A R v wa & e/ &1 3F0eaR & v
faf@a ger aifRw: () &7 & F7 50% 3wt F T v snfAAler Bl 1 (i) 7 & A 65% 3HT &
ary fAf@a afier o @ (i) 24 aF ¥ 30 9§ F I T F & (v) 2 T Hir vF Iaw @A FT FH
T T P @1 (v) FAART A 18000 T R 3wd iU Af¥F daa A wr A IR G 3FAE@R (i) A
BT ITNFA 3T 3T ARIGST P QU FAT 8, Afher 39 gNfaafler Bafr F 75% 3w wroa o §, o 3w
ATHT Feth HT AT ST §1 FAT 62% 3Hf F AT HGA SNAART [ Fo & a6 Voo 4 99 § &
SOty 7 FIH F @ 1 38X 28 aF H I T F o T TF 9 AE 20000 F9A qqT o TG &
A)3FHIEAR FI YaHH Dl TGTod hdT ST AT B)3er 3maied
C)3#Hicar & TAgerd =gt fhar ST Tehell & D)3#Hicar &I fagerd fanar Sirer =g

Study the following information carefully and answer the question given below. The candidate must: (i) Be
holding an engineering degree with at least 50% marks. (i) Have passed the written examination with at least
65% marks. (jii) Be in the age group of 24 years to 30 years. (iv) Have experience of working for a minimum
period of 2 years. (v) Be presently drawing a monthly salary of Rs.18000 and above. In case a candidate
satisfies all the other criteria EXCEPT (ii) but has secured 75% marks in engineering degree, his/her case is
to be referred to the manager. Kamal has been working in a company for the last 4 year after completing his
engineering with 62% marks. He has completed 28 year of age. He is drawing a salary of Rs.20000 per
month.

A)The candidate has to be referred to the Manager  B)Data inadequate

C)The candidate cannot be appointed D)The candidate has to be appointed

Answer Key : B Your Response : Not Answered Raise Objection(Question No. 40) (objection.aspx?qwr=3610117616&qwer=40)

Question No. 41
39 W &, A FUT R v § e a5 9/ st R aw §) 3@ fsed @ gof S afes w9 @ ae@ s
3ugad gl FU 1) @ e Ritear §1 2) wr Rite swkat &) et ) @ $r a6t &1 1) Fo

Feol THRAN Tt §
A)Faer TSy || areled T gl B)&had fIshy | Urefel & g
C)fersay | 3R Il ST gTelet R gl D)IT ar fAshy | a7 || greled @ &l

In this question, two statements are given followed by two conclusions. Choose the conclusion(s) that best
fit(s) logically. Statements: 1) All dogs are cats. 2) All cats are goats. Conclusions: I. All dogs are goats. Il.
Some dogs are not goats.

A)Only conclusion Il follows B)Only conclusion | follows
C)Both conclusions | and Il follow D)Either conclusion | or Il follows
Answer Key:B  Your Response : D (Wrong) Raise Objection(Question No. 41) (objection.aspx?qwr=3610117616&qwer=41)

Question No. 42



A Faseq 1 = HIS0 ST AT (X) F 1S g0 &9 % agd Afd® 79477 2|

1]

GE PR
P G P
(X) (P) Q) (R) (S)

A |(P)Faa B. |(Q %=

C. |R) ¥ D. [(S)%aa

Choose the alternative which closely resembles the folded form of

figure (X).

1]
(6|2
5 1 3 ‘ 2 \ ﬂ
4

43 5 6 2 4 5 5 3
(X) (P) Q) (R) (8)

A. |(P)Only B. [(Q) Only

C. |(R) Only D. | (S) only

Answer Key : D  Your Response : Not Answered Raise Objection(Question No. 42) (objection.aspx?qwr=3610117616&qwer=42)

Question No. 43

ART & G 94T &7 3T Faer B



A)@TE Jedelr B)eIlS leidliord
C)ars fafaas dfew D)dfs areT gieesq

Who abolished the practice of Sati in India?

A)Lord Wellesley B)Lord Cornwallis
C)Lord William Bentinck D)Lord Warren Hastings
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 43) (objection.aspx?qwr=3610117616&qwer=43)

Question No. 44

fafaf@a et #r aEurEgEs 96 AR @ T 1w s F 3R &1 e safdd - 3on, U9, W9, e,
T, a1, dR IR AP T AR H HS AN Aftelt W Bl §, AfheT S8 6T & T 3 %A &
®A &l 3ARa fr e Al Afd W aR e foar §, 3K 39 I & 75 w o o § 3k 38 #a
W YHR AT § U W FW A AT W 316 fA@r g1 Aoy 58 AfFe W @ar g1 A IR MFa F <
Fael oY & AT @A §1 30T, MF F A AT War ¥ IR0 AR TS F AT Faer IR AT T §1 I, AR
& 81 IW T ¢ Afhed 9 Fa 9N AT W €T Wl Rar, v T7 G&;1 arell AfFT T W g1 Rar
IR BT & @ ar AT T §1 MF AR TS F < fhda oer wa §?

A)4 B)5

C)3 D)6

Read the following information carefully and answer the question given below. Eight persons—Arun, Raj,
Sonu, Vinay, Siva, Babu, Sekar and Gokul live on eight different floors of a building, but not necessarily in the
same order. The lowermost floor of the building is numbered one, the floor above that is numbered two and so
on till the topmost floor is numbered eight. Sonu lives on the floor numbered 5. Only two people live between
Sonu and Gokul. Arun lives immediately below Gokul. Only four people live between Arun and Raj. Raj lives
immediately above Sekar but not on the topmost floor. Siva lives on an even numbered floor. Two people live
between Siva and Vinay. How many persons live between Gokul and Raj?

A)4 B)5
C)3 D)6
Answer Key : B Your Response : Not Answered Raise Objection(Question No. 44) (objection.aspx?qwr=3610117616&qwer=44)

Question No. 45

rlrer SohfaeRt fr v 9t &7 A DfAT IWHERT & TGy, AT F7 F a7 3R FASHT gt F dEag F
WRITA{AS FEAT Heled HIAT &1 SNl B HABOT Gel, e AT Get R HaTeH Pt H STwmrr
ﬁgm—ammﬂmmﬁm,mmwmmwmmmmwg.ﬁf#
AT, F15 3a3e a8 Ber IR Fo IS B o O T e A e Mo F N F it F aeaw § 3R
R T V TR-GR I AT S T HS AchoT Ad1 Adhar| U v Rveal F & i ar adrewr @Al &
T 3w woEr & S ae & e F 39gET g | A AT e & fav wenfaa w@idwy . A e
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Al B)III



C)IV D)I

Girish provides administration support with limited powers to a large team of engineers, particularly regarding
pay and working hours. Engineers should fill out time-sheets, outlining working hours, billable hours and paid
overtime base on which their wages are calculated. For a few weeks, the updates are not found and few that
are found are incomplete. Repeated remainder through authority and in person about the time sheets
remained futile. From the given options which methods will suit Girish to overcome this problem? I.
Automated software for filling in the time sheet Il. Cutting out the wages for all those who did not fill in the time
sheet lll. Reporting it to the concerned authority IV. Warning the employees in the meeting.

Al B)III
C)IV D)l
Answer Key: D  Your Response : Not Answered Raise Objection(Question No. 45) (objection.aspx?qwr=3610117616&qwer=45)

Question No. 46
FleTar e AR U AT Faer H Fa@ GFR TS § QU FWM? I60 2 FHg = TF ;2
A)Tad SEICH
C)afear D)fedeTe;

Which word will best complete the relationship given below? Water : Ocean :: Snow : ?

A)Mountain B)Hail
C)Peaks D)Glacier
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 46) (objection.aspx?qwr=3610117616&qwer=46)

Question No. 47



414 303 195 101 215 201 1461 1041
405 296 231 202 273 212 1573 1153
398 216 246 205 284 232 1636 1187
376 231 315 234 230 205 1428 1013
439 358 386 212 240 215 1895 1212

247 239 339 294 296 232 1753 1230

2016 ﬁg‘l‘uﬁﬁﬂuﬂmaﬂﬂaﬁﬁmaﬁﬁwﬂwﬁﬁmgmﬁmﬁmﬂr

>

52% B. |55%

)

9% D |61%

Study the following table and answer the question given below it.
The following table represents the number of candidates appeared and qualified
belonging to different disciplines in an examination over the years.

e O

App. | Qual. | App. | Qual. | App. | Qual. | App. | Qual. | App. | Qual. | App. | Qual
| 242 186 395 248 414 305 195 101 215 201 1461 1041

0 280 | 193 | 384 | 250 | 405 | 296 | 231 | 202 | 273 | 212 | 1573 | 1183
0 346 | 237 | 362 | 297 | 398 | 216 | 246 | 205 | 284 | 232 | 1636 | 1187

UL 195 101 312 | 242 | 376 | 231 | 315 | 234 | 230 | 205 | 1428 | 1013
( 282 112 439 315 439 | 858 | 386 212 240 | 215 | 1895 | 1212

375 178 | 296 287 | 247 | 239 | 339 | 294 | 296 | 232 | 1783 | 1230

ppeared pp Qua ed (G

The candidates qualified wunder Commerce discipline in 2016 was
approximately what percentage of the candidates appeared under the same
discipline?

A 52% B. 55%
C. 59% D. |61%
Answer Key : D  Your Response : Not Answered Raise Objection(Question No. 47) (objection.aspx?qwr=3610117616&qwer=47)

Question No. 48



g Fg SRR THfE AT W W @I § et I g el § A B @wT F A v § S qom @
Sesf?

A)6 a¥ B)4 a¥

C)18 a¥ D)9 a¥

If a sum of money at a certain rate of Compound Interest triples itself in three years, then in how many years
will it be nine times the original sum?

A)6 years B)4 years
C)18 years D)9 years
Answer Key : A Your Response : D (Wrong) Raise Objection(Question No. 48) (objection.aspx?qwr=3610117616&qwer=48)

Question No. 49

RT & oliesd & e RASIAIR FHGT T AT F TARS & §9 37 @1 8
A)TsTsehel B)g+Fdr
C)3Ndheh D)sadheaToT

is the city of Karnataka in India that stands as a reminder of glory of the Vijayanagar empire.

A)Pattadakal B)Hampi
C)Gokak D)Basavakalyan
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 49) (objection.aspx?qwr=3610117616&qwer=49)

Question No. 50
T ST Tl AT I & 3/4 A F T, W9 AT FHT A T & 20 RAere S & Frdey
IgeT ¥ 3TH WA FHY FAC|
A)30 fAsre B)50 fse
C)80 e D)60 fete

A man reaches office 20 minutes later than his usual time, by walking at 3/4 of his usual speed. Find his usual
time.

A)30 minutes B)50 minutes
C)80 minutes D)60 minutes
Answer Key:D  Your Response : C (Wrong) Raise Objection(Question No. 50) (objection.aspx?qwr=3610117616&qwer=50)

Question No. 51

SITIERT T AT TUHAAAT Pl §2
A)&rferer o B)d@ &&=
C)sadd & F1S fawed A D)gHIer s

Who is the present Prime Minister of Bangladesh?



A)Khaleda Zia B)Sheikh Hasina
C)None of the options D)Hamida Bango
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 51) (objection.aspx?qwr=3610117616&qwer=51)

Question No. 52
AN WU F IR, efaf@a # & sl sfReR Ao sftwr 76 82
A)eH HT TIAAAT HT A RASHR B)#dfe @l 38R
C)voT & faeg 3fUaR D)HHATAT &l AR

According to our Constitution, which of the following rights is NOT a fundamental right?

A)Right to freedom of religion B)Right to property
C)Right against exploitation D)Right to equality
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 52) (objection.aspx?qwr=3610117616&qwer=52)

Question No. 53

TF T T FI9 TF T AT F& fer v A o fiw =t &

TR HIATI
2] @ BK [A] 4\
(1) (2) 3 (4) (5
R M A O
(6) I(%I 3 )
A, 157236489 B. 159247 368

C. h,57 2,493,638 D. B & FE =50




Group the given figures into three classes using each figure only

once.
A @ A\ O\
(1) ) 3) (4) (5
(6) (N (6:)] )
A, 1,57 23,6 4,89 B. 159247 3,68
C. 1,57 2,4,9;3,6,8 D. |Noneofthese
Answer Key: B Your Response : C (Wrong) Raise Objection(Question No. 53) (objection.aspx?qwr=3610117616&qwer=53)

Question No. 54

fef@a & ¥ Slaar g adwolT 82
A) st B)sTFfas
C)giferaA D)ahIrelr

Which of the following resources is renewable?

A)Timber B)Natural Gas
C)Uranium D)Coal
Answer Key: A Your Response : C (Wrong) Raise Objection(Question No. 54) (objection.aspx?qwr=3610117616&qwer=54)

Question No. 55

fAmfaf@d STel # EueEr § 9¢ 3R A e 1w goT H Se) &1 1) e & v o 3R & O s
39T (Wl F wad o), g (Wl ¥ wad ¥mn) AR gET §1 1) T F Jov & Raw B, S A sk
3T oot AT HY Fa@ T A& B Il) FeT F 396l Fad N T F A A @R Aeh oo F wwd a3
¥R & B IV) g A J9E DS 38 F Q& a9 GO 3R Fow A V) AgT & ) HR a= § WE @
¥ o AR A § T31) AR AR, At @ War & 93 §1 VI) A5 AR U9 gEa 3R s F 97 §1 Vi)
e T4 B T F1 Ao Ae, Vg F F FefeT §2

A)FTAT (FATTH) B)amEr (Yeh)

C)erer () D)aATeAT (FTeh)



Read the following information carefully and answer the question given below. I) Mithran has a daughter and
two sons Usha (youngest of all), Raghu (eldest of all) and Suman respectively. Il) Suman married Roja, the
eldest daughter of Mr. Mohan and his wife Sumathi. Ill) Mohan married their youngest daughter to the eldest
son of Mr. and Mrs. Sharma. IV) Mohan youngest daughter had two children Sandeep and Sanjana. V)
Mohan have two more children, Roshan (Younger than Roja and Elder than Bhaskar) and Bhaskar, both are
elder to Seetha. VI) Rohan and Raju are sons of Suman and Roja. VIl) Leela is the daughter of Sandeep.
How is Mrs. Mohan related to Rohan?

A)Grandmother (maternal) B)Grandmother (paternal)
C)Grandfather (paternal) D)Grandfather (maternal)
Answer Key : A Your Response : Not Answered Raise Objection(Question No. 55) (objection.aspx?qwr=3610117616&qwer=55)

Question No. 56
@ i FX1 12, 4, 26, 17, 38, 28, (.)
A)43 B)51
C)48 D)41

Complete the series. 12, 4, 26, 17, 38, 28, (...)

A)43 B)51
C)48 D)41
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 56) (objection.aspx?qwr=3610117616&qwer=56)

Question No. 57

ofRfAfes & @ e f?
A) 3TeiFoisy Felfaer B)gaIRe 3&
C)usas ST D)elg U

Who discovered Penicillin?

A)Alexander Fleming B)Heinrich Dreser
C)Edward Jenner D)Louis Pasteur
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 57) (objection.aspx?qwr=3610117616&qwer=57)

Question No. 58
PrfefRd # & #Ra F FE Jue 7l F IRRETE F Fdfed ARRE [EER TARE-e-afhedeT gred g3m
Y4
AV.P. g B)ARRS ¢aTS
SECIRCICIGREY D) AT

Which of the following Prime Ministers of India has received, 'Nishan-e-Pakistan', the highest civilian award of
Pakistan?
A)V.P. Singh B)Morarji Desai



C)Jawaharlal Nehru D)Narendra Modi
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 58) (objection.aspx?qwr=3610117616&qwer=58)

Question No. 59
AR # ferfaf@a & & laar s =g $3 # R e g2
A)NABARD B)AMFI
C)RBI D)SEBI

Which of the following bodies regulates Mutual Funds in India?

A)NABARD B)AMFI
C)RBI D)SEBI
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 59) (objection.aspx?qwr=3610117616&qwer=59)

Question No. 60
ar HEamsit @ Aer 85 ¥ 3N IAHT IHaW 28 §1 3% T F IHeW qa”|
A)2380 B) 1850
C)3260 D)3880

The sum of two numbers is 85 and their difference is 28. Find the difference of their squares.

A)2380 B)1850

C)3260 D)3880

Answer Key : A Your Response : Not Answered Raise Objection(Question No. 60) (objection.aspx?qwr=3610117616&qwer=60)





